CLASS : vll. ..~ - MATHEMATICS

If the circumference of a circle is 16 1 em, what is its area?
(A)32n cm? (B)64xn cm? (C) 128w cm? (D) 256 1 em?

3
6 x12=12+09+1.2+12x ?

4
‘'What is the missing value in the above problem?
(A)4 (B)3 (C)2 (D)6

In the diagram below, ACT and BCS are straight lines.
Find the value of Aw+/x+ £y + Zz.

(A)180° (B)200° (C) 280° (D) 360°

If Swapna gives Jyothi Rs. 7, Swapna will have the same
amount of money as Jyothi. If Jyothi gives Swapna
Rs. 16, the ratio of the amount of money Jyothi has to the
amount of money Swapna has will be 5 : 7. How much
does Jyothi have?

(A)Rs.181 = (B)Rs. 131 (C)Rs.91 (D)Rs. 61

1
Mr. Khan had Rs. 700. He gave Rs. 5h to his son and 1 of

the reméinder to his 4 daughters. He used the rest to buy
some cakes. How much did the cakes cost?

(A) Rs. M (B) Rs. 3_(790_5}1)
4 4
(C)Rs. 2205k L (D) Rs, 199 ~oB
16 12
Which one of the following statements is true?
(A) 47 = (47) (B) 4% > (4°)
(C) 4% < (4° )2 (D) they cannot be compared
UCN/2010/VIl 23]
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CLASS 1V : Unified Council

7. A sum of mnoney becomes 4 times at simple interest in 10
years, What is the rate of inferesi?
(A) 107% (B 209 (C) 30%. (D 40%%

8. Guru folded a piece of square paper two times. The area J

of the portion of paper was reduced by ; with each fold. q :
. WY

At the end of the second fold, the portion of paper had an %
area of 9 cm”. What was the perimeter of the square pa per |
at first? . - ' '}
(A) 16 em (Bj24em (C)36cem (1) *}k f
9. In a Mathematics test, Tina an&c&ad 18 outr of 25
questions correctly. How many percent moré torrect
answers than wrong answers did she get?

o
(A)11% (I3) 44 () f’?% ) 280%
A_B B+7 5 .

W 155707 36 T1o

What fraction of A is B?%

2 -8 N @ A3 y 12
{A) 3 (B3 9 A () 2 (D 20
-

H. Product of two integers is ~216. If one of integers is 6,
then the other is:

(A 36 (B121 (C)-21 (D) -36

12.  Which of the following figures have rotational symmetry
of order more than 17

W @ (B) /\((H " (D)All the given
» ,_/ £ '

13.° Which of the following statements is false?
LA) (-1} = -1,if n is an odd integer

\‘I%J ]"P.'F 311}7 J.ﬂfi”l’létl nl}‘]ll}{:\r' ?:L EIU = ]
OV If 4 < 80 =35 then m =1
(1} None of these
UCMN'Z2070/VH E
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CLASS vt Unifisd Council

14.

i,

18.

?w!

If1 + 1. xwd , what does x equal to?

x X
‘A) 1or 2 only (B 1 and 0 only

((Y 1 and -1 only (D} any number exeept O

Ina APQR,if PQ* = QR* + PR?, then the right angle is ot
(AP (B Q ({CIR (D) any vertes
Privaread 3 of a book on Saturday and 70¢: ol the remaining
pages on Sunday. She then had 6g pages left to read. Find
the total number of pages in the book in texrms of .

(A) 180 q (B)90 g @30q% L) 1% ey

400 oranges were bought at Hs. 1 r andre ‘4’“—1 were
sold at 2 profit of Rs. 100. Find t

: hr' price pér dozen.
{A)Rs. 20 {(BYRs. 12 (C) Rs. D) Rs. 40
For the congruence of AABU and R PRR, which one of

o

the following sets of conditions is n sufhment’ '

Ll B
s

4
) L /\f
A -
(A) L/ ABC = 4{’ ,a=p, dFr
(B) /,CAB= gZRPQ, L ABC= /PQR, ¢=1
Ci%:‘é

(C)b=4f £ RPQ,a=p

Dyagpc=r, LABC= LPQR

AR an are two straight lines paraliel to each other
and a stiight line EF intersects them as shown in the

L
given fieTre. If /b= s¢,then:

(A) za= sk (B) ga= ¢ (C) £g= e (D) yg= ,f

UCN/2010/VI : E
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20. Which one of the fo]lovnng is the ratlonal number lying

6 7
had 9
between 7 and g
3 99 95 97 1 |
(A) 1 (B) 112 (C) 115 (D) 112 (
21. Which of the following figure bas six faces? w3

22. I.fx+y 5x+z-7andy‘\ 12, then hevalueofx+y+z
is: 5

(A)12 (B)2 '. (C) 5 (D) 24
23. Choose the correet éatement from the following.
(A)A triangle h‘l sides and 4 vertices

(BYA cyhnderf! aces

(C) All sides e ectanglt, are equal

(D) A giboid has 4flat faces and 12 straight edges
The aver of the even numbers from 1 to 30 is:

(A)15 (B) 16 (CY17 M) 19
g. T_he solution of 3(x + 2) - (x — 8) = 3(x + 8) is:
» =10 | (B) 10 _ (C)2 D)2
L |
o
UCN/2010/VII m




CLASS : Vil PHYSICS

26. The base of a cooking vessel such as n pot is usually dull
and black. Why is it made this way 7

(A) Black is a favourite colour of most consumurs,

(B) Dull surfaces prevent slipping.

(C) Black and dull surfaces are good absorbers of hent,
(D) Black and dull surfaces are good reflectors of haat.

27. Rohan carried out an investigation into thQ..S{)Bed of his
doll and the results are tabulatedibelow : ( .
‘(1 » ) i
. Numberof
. turnsofthe 1 2 4 4 | 6 | 8
key-_ i key 1 . ,
T % Distance ]
L S — u 4 it r;
AT, do i movedin20 | 4 Qﬂ 80 | 100
rli'tﬁ' . seconds fcm)
14 - /
What is the speed oi edoll when the'fkey is turned 8 times ?
(A)5ecmst  (B)T00ems? (C)12.5em s (D)4 cm st

28. Which of tl‘? *oﬂ:lewing is true about the fuse ?
il a

ipis a safei’yi:lévice

- i1, = Itsrating must be always higher than the maximum
( glecfricurrent inthecircuit
\ . . Wthagalowmeltingpoint
k 7
L

(B) I1 and I only
(D)1, 1T and 111

294 An object placed 3 m from a plane mirror is shifted by
4 m away from the mirror. What is the distance between
the object and its image ?

(A)6.4m (B)6.8m

(@Al aﬂﬂ only
(C) 1 and I1T only

F

(C)Yém (D)5.2m

UCN/2010/VII
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30. Which part of a thermos flask cannot help to reduce loss
of heat by radiation 7
A Vaenum (B3) Corle stopper
() Doubile glass wails 1) Shiny silvery walj
5 * i

31, What kind of graph will be obtained by the data given below? "‘

Cist (in m) { 1 2 1 4 LN |
Time (in s} 0 3 i 9 12
(A A curve Bl A straight line () Acircle (DA T -curve | i
32, Which components in the _‘ 1 F

cireuit given below can stop the
flow of electrical energy in the
circuit ?

(A)P (B)Q
(C)R (D)S

2. 'The image produced by Q is real.

Identify Q from the folloW,
(A) Plane mirror < &) Convex éns

(C) Concave lens .' A (D) Convex mirror
-

34. All the beakers below contain the same volume of water
and has the sa initial temperature. Which beaker will
show the lowgst 1 N perature after 10 minutes ?

N

{ !
: Hot_water Hot water
- White Whita
surface surface

—— Hot water Hot water
~-— Blaclk Black s,
surface surface
(C)  Copper (D) .
UCN/2610/VII 28]
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35, Two fnends A and B stari;ed from t.ha same location and
went 30 km along a road in the same direction as shown in

Distance in km

10.00 a.m.

QFZJ
37

graph.
30—
25

20

|

[ [ 1

Identify the correct statemen

(B) B moves with non uniform speed.

10.20 6am. 1040 am. 1100 am. 11.2 . : am. 12.0 am.

(C) A completes hisjournegntrl . r

(D) B overtakes A at 142 f

36. Which of the fol.“wm.g statements is true about
convection ?

(A) In solids, ?epés{ transferred only by convection.

(B) Conv cti

©ceur in cold liguids.

(C) C@v CthIl ges not requires medium for transmission.

(D) Heat
Fig. below s

* ﬁ-antofa lan

s from the hot end to the cold end.

ws an image produced by an object placed in
e mirror. What is the object from the following?

www.examrace.com
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38. What does the temperature show ?
(A) The rate of expansion of an object.
(B) The total amount of heat energy.
(C) The volume of a gas occupied. «
(D) The degree of hotness of a body. r -

39. Which of the following events are used for measureré:nt B
of time ?

(A) Occurrence of an earthquake. <ih » r
(B) Speedometer in a vehicle.
(C) Motion of a pendulum.

(D) Collision of a meteorite with

Electro magnets are mﬁe owerful tha

magnets
. SoftironiseasytQ nﬂg{tlzeand demag i
[Il.  The poles of an !ﬁtro agnet are not affected by the

directionoftheturrent

.
Which of th “L—}\’e statements about the electro magnets
are correct ? "‘“

(&) T agddI only ¢ (B) IT and 111 only
‘?-/ (C) 11T nly (D)1, 11 and 111
41. What is the reason for the formation of spectrum, when
‘s the sunlight passes through the prism ?
(A) Whitd light is a mixture of seven colours,
(B) Coloured light reflects at different angles in a glass prism.

‘_(C}The prism add colour to the white sunlight.
(5) Because light travels at high speed.

UCN/2010/VIH m
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CLASS VIl : _ i Unified Council

42, Observe the given figure below:

.The side of
the bell jar
feols warm

F@:}-?To VR

pump

The heat produced in the bu]b is h‘a ferre(i ol}:he bell

mainly by :
{(A) conduction (B) convection (C rad tiorg (D) condensatmn
43, Which of the following events ¢ r measuring time?
. Swingof a pendulum
1 Pulle fate
| I, ‘ngj gday andnight
(A)I and ITonly _'J (B)I1T and T only
(C)ITand I1I oqlgm (D)1, II and 111

44. Rahul told gais“friend that 'X' can form a virtual image
an the ifbj ect by reflection. What is X Rahul was

speagi‘ g about'?
« J wr

irrors (B) Convex mirrors
1ITTOrS (D) Convex lens

Vi
(C) Conc
d5. , Study the characteristics of wire X given below :
- |

e

n insulated wire wrapped around a piece of iron and when
electrc current flows through this wire, it behaves like a magnet
« X weakens thecellquickly when left connected

Based on the above information, identify X ?

(A) Electric fuse (B) Electric switch
(C) Electro magnet (D) Electric bulb
UCN/2010/V1I 31]
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(A)15ms! (B)3ems! (C)lems

47. Which of the following shows the cof
flow inside a building ?

UCN/2010/VII E
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W
What is the aim of Q gstlgatlo l
(A) To determine th“jm tness of the bulbs.
(B) To show thf mount of electrical energy produced.
(C)To sho ectrical energy produces heat enargy.
(D) To identi }*ffunctmns of each component.
o 50 S solal" panels have black surfaces ?
(-I (A) Bec \ihey are good absorbers of heat.
. (B Beca ge they are bad absorbers of heat,
:, *(C) Because they are good reflectors of heat.
( (D) Be}use they are bad radiators of heat.
UCN/2010/VIY 33]
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51. Juice prepared from lemon is taken into a glass tumbler
and water is added to it. Then a red litmus paper and a
blue litmus paper are dipped into it. What changes do _

you observe ? .r
(A) Red litmus paper turns blue. A (; - r!
(B) Blue litmus paper turns red. ' ' ' }
(C) Red litmus paper becomes white. # qy° J
(D) Blue litmus paper bebomes white. % r

52. Karuna wrapped some green gr sesin a t‘cotton
cloth and when she opened aft couple of days she
found small white growth on ds)What could be
the change undergone ?
(A) It could be physical change.
(B) By washing and drying &1 es could be esh as usual.
(C) It is a reversible cheiu { ange
(D) It is an irreversibly jhy cal change.
53. Identify the correct answer in the following.
(A) Wind moqunhare caused by uneven heating on the earth.
(B) The mgvem
-(C) Whepn, the a:lr moves from sea to land is called land breeze. -

(D) When girymoves from low pressure to high pressure it is
called wiind

54[. F}'om. where does a tropical cyclone get its energy ?
.

t §f air from land to sea is called sea breeze.

<%

) From the strong air pressure.

(B) From the energy of the ocean waves.
) Erom the energy of the wind.

-

(DfFrom the sun's energy.

UCN/20106/VII . m
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55. Johnadded IOml 12 ml of concentrated ﬂu.lphuric acld in

-56.

§7.

-r‘i__,f(C)I[IV

(ss

a test tube containing 5 g - 6 g of sugar crystals and warmed
gently. He noticed that white crystals slowly turned brown
and became black mass. What has happened?

(A) Sulphuric acid turned black but no change took place,

(B) Sugar got charred by the action of hot concentrated aulpluric
acid and chemical change took place.

(C) It is only a physical change.

(D) It is an irreversible physical change.

k.

: A
owing. ‘r

-, !
reduced algapressure.

Choose the correct answer from t
(A) High speed winds are accompan;
(B) High speed winds are accompagied byjincneased air pressure.
(C) Change in pressure does not gffect t ind velocity.

(D) Humidity can change the velocity and' direc:_tﬁn of wind.

When Sohail was asked‘ﬁ*his teachf to identify what
is the correct order ofighk processes listed below to purify
water and make it fﬁfe or drinking‘r ?

Fmrahoni Il. Sedimentation
1. Qﬂonn V. Addition of chemicals andsetting

(A) L 1L j’ B)IV,I,1,0I
(D)L I, IV, IO
Two metip ces magnesium and iron are strongly heated

separat The following changes were observed:

Mognes[ pieces burns with brignt whiteflameleaving powdered mass
tran ple’J;Iows redwhen heatedsirongly

»Which one these is a chemical change ?

(A)Tonly (B) 11 only
(C)Both I & 1T {DD) Neither I nor II
UCN/2010/VII 35|
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59. Diagram shows the observations of an experiment on

liquid P and liquid Q.

. Unified Council

What are the properties of liquid

Liquid P

blue litmus.
paper remains,
unchanged

blue litmus
paper remaing

unchanged

N

4l
LiguidP #5 Lauid @ 1
(A) Acidicyg ™ v
(B) Alkalie Acidic
o 4Nal Acidic
W &éupﬁ] Alkaline

(A) Th

)

MJof the following is not correct about thunderstorm?

‘4
£
= red litmus L o A Y _f
/ paper remains| f ¥ '
unchanged - |
’
AL N ’
N
. f
2| red litmus :
paper turns
blu
e —]

velop in hot, humid tropical areas like India very

freglently.
¢ (B) Th
. frequently.
(©

air create lightening and sound.

-~

CUCN/2010/VIH

develop in cold, humid areas like polar region very
swift movement of falling water droplets along with rising

D) Upward rising winds produced by rising temperatures carry
water droplets upwards.
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~ Jubeda kept some hot rofl |
1id and forgot to remove th |
she opened they were hard
smell and threw them nto o
: happened in these week day a?

" (A) Microbes reacted with them and & ¢he

" (B) Since they lost heat and came 10
become hard and it was a physical chi

(C) There was no change at all and it was
" surroundings. . '
(D) It was only a reversible physical change.

Why is pure water vexry difficult tain 7

(A) Water is impure in nature.
(B) Water cannot exist in pure sta
(C)Waterisa universal solvent.

(4
(D) Water cannot attract imﬂxes. '
63. What does antacids‘of in ? :

')

)

(A) A weak acid o
(B) A weak Qa@
(C) A strong cd

- ¢
(D) A strong b'b

64, stickis b
with a flame and a chemical change t

urnt. What new products are formed ?

(A) Tip got urnt ool.i

of the wood also got burnt and
ation of heat. It is a

v v '
> B) Alopg with tip, some part
ash is produced along with evol

jcal change.
> {C) Since the stick without tip can again be lighted, itis 2
[ change.

(D) Statements A and B are correct.

physical

UCN/2010/VH

www.exangace.com

|




U R e g
65. Which of the following methods can be used to control
water pollution ? : '

e e — e BRREG ra R T =

i Avoidingtheuse of chemical substomces freely
. Educcting sodiety about thedangersof water pollution
M.  Usingbiological control in agricultural arecs instead of usingpesticides 2

(A)Tand I only (B) 1L and T only <\l 4‘
L

()T and I only (D)1, ITand TIT ,..'
L

66. Kajal took some solid butter in a container hea
for about 15 minutes. She forgot'fo yse it ediately.
s'she o ed that
is 'ffereif;a om the
possible reason ?

Later on the same day after six
mass solidified in the containe
original one. What could be t

(A) Both are same but colours afe diffefe

(B) Butter on heating reacted with oxyg:

of the/air and formed
a new substance.

(C) Some volatile conﬁo‘éﬁs of buttet escaped out from it
leaving behind s %ee’.

(D) It could have &Fﬂled a different crystalline solid by the
process of }16 ting and cooling.

67. Which of thefol wing substances react with each other
to formysal wwater only ?

(A) Wu sodium hydroxide and dilute hydrochloric acid.
<% (B) Magl}ﬁm and dilute hydrochloric acid.
(C) Cop}ij sulphate and dilute sulphuric acid.

*  ¢(D) Washing soda solution in water and dilute nitric acid.

)

UCN/2010/VH m
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68. Figure below shows a balloon in a glass jar :

glass jar

__— balloon

air
—» air pumped out

T s e R L T i e

What will happen when air is sucked out of the 'glfa%ﬁi o i :
jar? . < '
(A) The glass jar will become smaller. P
(B) The balloon will become smallegd® = ) ‘
(C) The balloon will become biggefand then urst.
(D) Nothing will happen.
69. What kind of change is obtained by heati.;l maghesium wire ?
(A) Physical change' 1
(B) Chemical changely
(C)Both (A) and\‘I B

(D) Nuclear aln%c\

#

70. Whichofth ol‘riWing maintains balance of water on the
eartl\l".:]‘ y
?J (A) Wat :‘Rme (B) Glaciers -
(C) Aquifdr (D) Water cycle
%9 f]

-
l.

"r

UCN/2010/VIH _ E
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71, Which of the following systems is responsihie for
producing enzymes that aid in breaking down sub.tances
to be absorbed for the body’s growth and repair?

1
(A) Respiratory system (B) Digestive system P r <
(C) Circulatory system (D) Nervous system ™ /
72. Thefigure given below shows how water <14 > [
is transported through a piant. EE\‘*\? A5 \
Which part of the leaf controis the rate Ay ’f_ '
of loss of water to the air? . ;\{# N
(A) Epidermis (B) Sto b= ‘af* ;
(C) Vascular bundles D)Cyffidle 2} |
i 4 S
f‘:ﬁ%@::.
’;&’J'i%

73. Study the characteristics given bel

+ Ifhcshighfen(ﬂ trength
+ It hashighw z;sorpfion acity
+ When buugt @eﬂsnkeburnf air

1
Which of the follo g vields fibres bossessing the above
characteristics? ™

(A)Sheep < gﬂﬁilkwom (C) Cotton plant (D) Flax
F

74. The given pﬁnt ses its lid when the insect enters it.

o\

at rolg does the insect piay in the given plant?

(A) Fertilization procoss
YProviding nutrients to the plant
‘?’cr Dispersal of seeds
(D) Providing carbon dioxide to the plant

UCN/2010/vN m
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CLASS : VI 1 Unified Council

76. Penguins live in the South Pole. Which of the following
is NOT an adaptation that enable them to survive?

(A) They have a layer of tal under their skin
(1) They have webhed foet
(C) They migrate to warmer regions during winter

(I They tuck in their fhippers close to their hodies

7G. Observe the figure given helow, ,«"
blood m !
3 capillary v
¥ O
- = v__;‘r._h'
-'_-:_:} & A r
/F‘u p & : gi L___.. L
'.I d.-"‘g‘ﬂi_ & o 'I'.nl'- .I
el
body cells

The gas which diffuses from the body cells into the
capillary is most likely to be:

L
(A} carbon dioxide (B) hydrogen (C)oxygen 4 (D gfbon monoxide
77. Which of these is NOT a# (sexual I e}f?)-(ructwe body in

some organisms? <
(A) Spores (B) Buis (C) Gamete§ (D) Roots

78. Herbivores donot duce enzymes that digest cellulose.
How does the qe lulose in their food get digested?

(A) Algae in t it gut convert the cellulose into simple sugars
(B) Bactefia in th‘el*r gut convert the cellulose into glucose
(C) ‘_Viﬂf {gs in their gut convert the cellulose into simple sugars

(1)) Fungi eir gut convert the cellulose into simple sugars.

’?9. The fi given below shows the function of a blood cell.

( ) ‘o——r Bacterium

ch of the following blood cells can do this?

(A) Red blood cells (B) White blood cells
(C) Platelets (D) Denucleated red hlood cells
UCN/2010/VHI : | 41
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82.

C

A
-

[ o 2 I.| .I I-!. 7 l. ; .-I I"I. .: -'II ﬁmﬁ@mu.ké'[“—'_ .
Whlch one of the following organs is NOT associated to
the alimentary canal?

(A) Liver (B) Gall bladder

(C) Diaphragm : (D) Colon

The figure given below shows a simple food web. P, 4
Frogs - ( .

F

| Snakes - ;{ b

rRab‘bitg] IInsec@—bF RatLI p | { ' ’

(A) Frogs only
(C) Insects and frogs only

The following word equation shows'a cheghical process.

‘ Glucose —Z—> Ethanol + carbo( dioxide i

What is organlsm':r?“ !
(A) Alga (B) ) Protozoan (C) Yeast (D) Hydra

The diagra iven below shows nodules on roots of
Ieguminou(?)l 1ts which contain symbiotic bacteria.

9, 3,
}‘1\ gur

What i the role of the bacteria?
(A) Convert oxides of nitrogen into soil nitrates

[B) Convert atmospheric nitrogen gas into goil nitrates
(C) Convert soil nitrates into gaseous nitrogen
(D) Convert plant proteins into ammonia

UCN/2010/VIl - '
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84. Deforestatlon results in all of the follong except.
(A) floods (B) soil erosion
(C) eutrophication (D) decreasein animal and plant species

85. Which of the follow1ng is true of parasitic plants?

i Theyabsorbfoodfromthelrhost
ll. Theycompetewiththe host for sunlight
. Theykillthe host plant eventually .

(A)Tand ITonly (B)IandIonly (C)T1 and ML only (D)Iiﬂaﬂﬂ]:%

86. The figure given below shows three types Of eto
organs in mar. ﬁ‘\ (qx ‘{\ i
J

Which excna‘ory gans are responsible for the excretion
of urea

(AP Q@ ®QandR (©OR only (D)Pand R

%
. Studyt jagram given below.
_ What happens after the above stage?
®
L

v
(A) The ¢vary splits open

(B) Ovagy develops into a fruit and ovules
into seéds

) The ovules are dispersed
D) Germination of seeds take place

WCN/2010/VIY m
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88. The diagram shows a section through the human heart,

2 3

_ S » o
Which blood vessels carry blood to and ; «éaih\e IU:IES?
Blood to tungs Blood Iung:z 1! ,
(A) 1 - 4
(B) 1 | A
(& 2 ,
(D) 2

d.-
- (h P | -
Kittu feut ¢ E‘potato into sections as shown. Which
sectipn(s) willNOT produce new plants?

<% (A) P onl ' (B) Q and R only
- (C)Q and S §nly (D) P and R only
.90. Anu todk three pots P, Q and R. She filled them with
sand, clay and loam respectively and planted one sapling

v
> in eacH of them. Which sapling is most likely to show .
healthy growth? '

(éﬁ.‘) sapling in pot P (B) The sapling in pot Q |
-~ FJ) The sapling in pot R. (D) None will grow

UCN/2010/VII :
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If in certain code TRAIN is wril
FIGURE be writien in that cod

(A) DGESPC (B) HIWETH
(C)HKIWTG (D) DEGPSEC

92. From which of the following states was |

{A) Uttar Pradesh (B) Himachal ) o
{C)Rajasthan (D)Punja i :

:9_3. Who among the following 1s th s woman

Lok Sabha?
(A) Sonia Gandhi {B)
(C) Vijayalakshmi Pandit (D)

umar
SarojinigNaidu

94. A student got twice as nggpy sums wipng as he got right
If he attempted 48 q‘urx if all, how|many did he solve

correctly? ' .
s (A)12 | (B:».ti“ (O 18 (D) 24

1 symbol of the awareness of which
rég 'ibbon?

95. The internat
disease is t

(A} Canedr
K L]

(C)epatips - {D) Swine Flu
Borridor links:

(B)AIDS -

Teen Big

L ] ?B angladesh and India
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97. Study the relation between the figures in Set—l and ﬁnd
the missing figure in Set-I1?

Set-| Set-ll

@@ @) ?
(A) ®[@] ©o@ o @

98. The minimum age required for an Indian citizen to become
a member of the Lok Sabha is:

(A) 21 years (B) 25 years
(C) 30 years (D) 35 years
99. Which of fhe following shall host the 2012 Olympic
Games?
(A) Japan (B) Maldives
(C) London ' (D) Canada
100. What is the traditional name for a 30th anniversary?
(A) Ruby : (B) Sapphire
(C) Pearl (D) Diamond
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1. B 2. A 3. B 4. B 5. B 6. B 7. C 8. B
9. C 10.A 11.D 12. D 13. B 14.D 15, C 16, C
17.C  18.C  19.B 20.D  21. B 22. A 23. B 24. B
25.A 26.C  27. A 28.D  29.B 30. A 31. B 32. A
33.B 34.C 35D 36. D 37. B 38, D  39.C 40. D
41.A 42.C 43.D 44 C 45. C 46, C 47. B 48. D
49.C 50.A 51.8B 52. D 53. A 54, D  55.B 56. A
57.C 58. A 59.D 60. B 61. A 62. C 63. B 64. D
65.D 66.C  67. A 68. C 69. B 70.D  71.B 72. B
73.A 74.B  75.C 76. A 77. C 78. B 79. B 80. C
81.B 82 C 83 B 84. C 85. B 86. A 87. B 88. D
80.C 90.C 91.C 92.D  93.8B 94. B 95 B 96. D
97.B 98.B  99.C 100. C
L |
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